
2020-2021 C8 Corvette Bottle Bracket Mount
PART NUMBER: 00-33012

I N S T A L L A T I O N  I N S T R U C T I O N S

W W W . N I T R O U S O U T L E T . C O M / I N S T A L L A T I O N - G U I D E S

N I T R O U S  O U T L E T   |   3 0 5  S O U T H  2 8 T H  S T R E E T   |   W A C O ,  T X  7 6 7 1 0   |    P :  2 5 4 - 8 4 8 - 4 3 0 0   |   W W W. N I T R O U S O U T L E T. C O M

©
N2

O0
41

22
1

1

IMPORTANT:  All appropriate safety equipment (gloves, tools etc.) must be used during the installation of this product(s).
Nitro Dave’s LLC accepts NO responsibility for injuries resulting in the installation of any product(s). Nitrous oxide is for off-road use only.

This Nitrous Outlet Vehicle Specific Bottle Bracket Mount is designed specifically for the 2020 and up Chevrolet C8 Corvette. If you need any assistance 
during installation or if you have questions about this bottle mount, call our Tech Help Line at (254) 848-4300.

Tools Needed for Installation:
• 10mm Deep Socket  • T-30 Torx Bit  • Ratchet  • 1/2” Wrench  • 3/16” Allen Wrench    
• 1” Hole Saw  • Drill  • Marker  • Trim Tool • 3/8” Drill Bit
Additional Materials Needed for Installation:
• Grease Remover

*These are the tools required for installation of this kit on a stock vehicle. If your vehicle has aftermarket parts, other tools may be required. 

Step 1: Disconnect the Battery
• Open the front storage compartment.

• Remove the trim panels on each side of the vehicle by pulling them from the clips securing  
 them to the body.

• Remove the main panel covering the battery by pulling it from the clips securing it to the body.

• Using a 10mm socket, loosen the nut and remove from the negative terminal.



2020-2021 C8 Corvette Bottle Bracket Mount
PART NUMBER: 00-33012

I N S T A L L A T I O N  I N S T R U C T I O N S

W W W . N I T R O U S O U T L E T . C O M / I N S T A L L A T I O N - G U I D E S

N I T R O U S  O U T L E T   |   3 0 5  S O U T H  2 8 T H  S T R E E T   |   W A C O ,  T X  7 6 7 1 0   |    P :  2 5 4 - 8 4 8 - 4 3 0 0   |   W W W. N I T R O U S O U T L E T. C O M

©
N2

O0
41

22
1

2

IMPORTANT:  All appropriate safety equipment (gloves, tools etc.) must be used during the installation of this product(s).
Nitro Dave’s LLC accepts NO responsibility for injuries resulting in the installation of any product(s). Nitrous oxide is for off-road use only.

Step 2: Vehicle Disassembly
• Remove the front trim panel from the front storage area.

• Using a T-30 Torx bit, remove the 4 screws from the front storage bin.

• Unscrew the 2 rear tabs holding the storage net.

• Unplug the front storage light/power port connector. 

• Remove the front storage bin from the vehicle.



2020-2021 C8 Corvette Bottle Bracket Mount
PART NUMBER: 00-33012

I N S T A L L A T I O N  I N S T R U C T I O N S

W W W . N I T R O U S O U T L E T . C O M / I N S T A L L A T I O N - G U I D E S

N I T R O U S  O U T L E T   |   3 0 5  S O U T H  2 8 T H  S T R E E T   |   W A C O ,  T X  7 6 7 1 0   |    P :  2 5 4 - 8 4 8 - 4 3 0 0   |   W W W. N I T R O U S O U T L E T. C O M

©
N2

O0
41

22
1

3

IMPORTANT:  All appropriate safety equipment (gloves, tools etc.) must be used during the installation of this product(s).
Nitro Dave’s LLC accepts NO responsibility for injuries resulting in the installation of any product(s). Nitrous oxide is for off-road use only.

• Remove the cargo net from the front storage compartment.

• Unscrew the front 2 tabs for the storage net.

• Using a trim tool, remove the 4 trim buttons in the storage compartment.

• Remove the weatherstripping from the storage compartment.

• Remove the storage compartment liner.



2020-2021 C8 Corvette Bottle Bracket Mount
PART NUMBER: 00-33012

I N S T A L L A T I O N  I N S T R U C T I O N S

W W W . N I T R O U S O U T L E T . C O M / I N S T A L L A T I O N - G U I D E S

N I T R O U S  O U T L E T   |   3 0 5  S O U T H  2 8 T H  S T R E E T   |   W A C O ,  T X  7 6 7 1 0   |    P :  2 5 4 - 8 4 8 - 4 3 0 0   |   W W W. N I T R O U S O U T L E T. C O M

©
N2

O0
41

22
1

4

IMPORTANT:  All appropriate safety equipment (gloves, tools etc.) must be used during the installation of this product(s).
Nitro Dave’s LLC accepts NO responsibility for injuries resulting in the installation of any product(s). Nitrous oxide is for off-road use only.

Step 3: Bottle Installation
•  Before installing the bottle mount backing plates, clean the back and inside back wall of the  
 storage compartment with a grease remover.

•  Follow the instructions on the epoxy provided with the plate to secure the backing plates in the  
 proper location. Allow adequate drying time before installing bottle bracket.

 Note: Be sure not to get any of the epoxy in the holes of the backing plates.

•  On the back of the storage compartment, unclip the sensor wire and epoxy Top Backing Plate  
 1 centered on the wiring and liner clip bases.

•  Using a 3/8” drill bit, match drill the 3 holes in the backing plate.

•  Insert the provided 1” long, 5/16” hardware through the drilled holes.



2020-2021 C8 Corvette Bottle Bracket Mount
PART NUMBER: 00-33012

I N S T A L L A T I O N  I N S T R U C T I O N S

W W W . N I T R O U S O U T L E T . C O M / I N S T A L L A T I O N - G U I D E S

N I T R O U S  O U T L E T   |   3 0 5  S O U T H  2 8 T H  S T R E E T   |   W A C O ,  T X  7 6 7 1 0   |    P :  2 5 4 - 8 4 8 - 4 3 0 0   |   W W W. N I T R O U S O U T L E T. C O M

©
N2

O0
41

22
1

5

IMPORTANT:  All appropriate safety equipment (gloves, tools etc.) must be used during the installation of this product(s).
Nitro Dave’s LLC accepts NO responsibility for injuries resulting in the installation of any product(s). Nitrous oxide is for off-road use only.

•  Epoxy Top Backing Plate 2 and place it on the inside of the storage compartment, centered on  
 the protruding hardware.

•  Using a 3/16” Allen wrench, install the 3 long mount spacers in the top backing plates.

•  Using a 3/16” Allen wrench, install the bottle mount on the mount spacers.

•  Using a sharpie, mark the 3 bottom bolt holes through the bottom of the bottle mount.

•  Using a 3/8” drill bit, drill holes where you marked.



2020-2021 C8 Corvette Bottle Bracket Mount
PART NUMBER: 00-33012

I N S T A L L A T I O N  I N S T R U C T I O N S

W W W . N I T R O U S O U T L E T . C O M / I N S T A L L A T I O N - G U I D E S

N I T R O U S  O U T L E T   |   3 0 5  S O U T H  2 8 T H  S T R E E T   |   W A C O ,  T X  7 6 7 1 0   |    P :  2 5 4 - 8 4 8 - 4 3 0 0   |   W W W. N I T R O U S O U T L E T. C O M

©
N2

O0
41

22
1

6

IMPORTANT:  All appropriate safety equipment (gloves, tools etc.) must be used during the installation of this product(s).
Nitro Dave’s LLC accepts NO responsibility for injuries resulting in the installation of any product(s). Nitrous oxide is for off-road use only.

•  Insert the provided 1-1/2” long, 5/16” hardware through the drilled holes from the inside, out.

•  Epoxy one of the Bottom Backing Plates and place it on the outside of the storage
 compartment, centered on the protruding hardware.

•  Remove the 5/16” hardware and insert them through the drilled holes from the outside, in.

•  Epoxy the other Bottom Backing Plate and place it on the inside of the storage compartment,  
 centered on the protruding hardware.

•  Using a 1” hole saw, drill a hole on the angled part of the storage compartment, below the trim  
 button insert and to the right of the Top Backing Plate 2.



2020-2021 C8 Corvette Bottle Bracket Mount
PART NUMBER: 00-33012

I N S T A L L A T I O N  I N S T R U C T I O N S

W W W . N I T R O U S O U T L E T . C O M / I N S T A L L A T I O N - G U I D E S

N I T R O U S  O U T L E T   |   3 0 5  S O U T H  2 8 T H  S T R E E T   |   W A C O ,  T X  7 6 7 1 0   |    P :  2 5 4 - 8 4 8 - 4 3 0 0   |   W W W. N I T R O U S O U T L E T. C O M

©
N2

O0
41

22
1

7

IMPORTANT:  All appropriate safety equipment (gloves, tools etc.) must be used during the installation of this product(s).
Nitro Dave’s LLC accepts NO responsibility for injuries resulting in the installation of any product(s). Nitrous oxide is for off-road use only.

•  Remove all the hardware and spacers and place the liner back in the storage compartment. 

•  Match drill the liner from the outside. Use the 3/8” drill bit for the 6 mounting holes. Use the  
 1” hole saw for the feed line hole.

•  Reinstall the front 2 tabs for the storage net to ensure that the liner is properly placed.

•  Assemble your bottle bracket on mounting plate.



2020-2021 C8 Corvette Bottle Bracket Mount
PART NUMBER: 00-33012

I N S T A L L A T I O N  I N S T R U C T I O N S

W W W . N I T R O U S O U T L E T . C O M / I N S T A L L A T I O N - G U I D E S

N I T R O U S  O U T L E T   |   3 0 5  S O U T H  2 8 T H  S T R E E T   |   W A C O ,  T X  7 6 7 1 0   |    P :  2 5 4 - 8 4 8 - 4 3 0 0   |   W W W. N I T R O U S O U T L E T. C O M

©
N2

O0
41

22
1

8

IMPORTANT:  All appropriate safety equipment (gloves, tools etc.) must be used during the installation of this product(s).
Nitro Dave’s LLC accepts NO responsibility for injuries resulting in the installation of any product(s). Nitrous oxide is for off-road use only.

Step 4: Final Assembly
•  Place the storage compartment back in the vehicle.

•  Reinstall the net tabs, trim buttons, cargo net, and weatherstripping in the front storage
 compartment.

•  At the bottom – Insert the 3 - 1-1/2” long, 5/16” bolts with washers from the outside of  
 the storage compartment. Place a short spacer over each of the bolts. The bolts will then pass  
 through the bottom holes of the mounting plate. Secure the plate with the provided locknuts.

•  Using a 3/16” Allen wrench and 1/2” wrench, install mount with bracket in the storage
 compartment.

 At the top – Use 3 of the 1” long, 5/16” bolts with washers to reinstall the long spacers. After  
 the spacers, install the mounting plate using the remaining 1” long, 5/16” bolts with washers.

•  Reconnect the battery.



2020-2021 C8 Corvette Bottle Bracket Mount
PART NUMBER: 00-33012

I N S T A L L A T I O N  I N S T R U C T I O N S

W W W . N I T R O U S O U T L E T . C O M / I N S T A L L A T I O N - G U I D E S

N I T R O U S  O U T L E T   |   3 0 5  S O U T H  2 8 T H  S T R E E T   |   W A C O ,  T X  7 6 7 1 0   |    P :  2 5 4 - 8 4 8 - 4 3 0 0   |   W W W. N I T R O U S O U T L E T. C O M

©
N2

O0
41

22
1

9

IMPORTANT:  All appropriate safety equipment (gloves, tools etc.) must be used during the installation of this product(s).
Nitro Dave’s LLC accepts NO responsibility for injuries resulting in the installation of any product(s). Nitrous oxide is for off-road use only.

•  Reinstall the 4 trim panels around the front storage compartment.

•  Reinstall the 4 mounting screws.

•  Reconnect the front storage light/power port connector.


